Test Booklet No. __’ Test Booklet Set No. 1 5

S}UJ CET-ME-2021

This booklet contanins 16 pagea,
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DO NOT open this Ebst Booklet until you are asked to do so.

Important Instructions :
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6)

7)
§)

9)
10)
1)

12)
13)

14)

15)
16)

The Mathematics test cun.:iists of40 questions, Fach question carries 1 mark. For each correct
response, the candidate Will get I mark, [y each incorrect response, % mark will be deducted.
The maximum marks arc 40.

This Testis of T hour duration.

Use Black Ball Point Pen only for Writing particulars on OMR Answer Sheet and marking
answers by darkening the circle <o,

Rough work isto be done on the space provided for this purpose in the Test Booklet only.

On completion of the test, the candidate must handover the Answer Sheet to the Invigilator
in the Room /Hall. The candidates arc allowed to take away this Test Booklet with them.
The Set No. for this Bookletis{15 | Make sure that the Set No. printed on the Answer Sheet is the
same as that on this booklet. In case of discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test Booklet and the Answer Sheet.

The candidate should ensure that the Answer Sheel is not folded. Do not make any stray marks on
the Answer Sheet.

Do not write your Seat No. anywhere clse, except in the specified space in the Test Booklet /
Answer Sheet.

Use of White fluid for correction is not permissible on the Answer Sheet.

Each candidate must show on demand his / her Admission Card to the Invigilator.

No candidate, without special permission of the Superintendent or Invigilator, should leave his/ her

seat.

Use of Simple (Manual) Calculator is permissible,

The candidate should not Jeave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and must sign the Attendance Sheet (Patrak - 01). Cases where a candidate has
not signed the Attendance Sheet (Patrak - 01) will be deemed not to have handed over the Answer
Sheet and will be dealt with as an unfair means case,

The candidates are governed by all Rules and E{egulillinns of the Board with regard to their conduct
in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of

the Board.
No part of the Test Booklet and Answer Sheet shall be detached under any circumstances.

The candidates will write the Correct Test Booklet Set No. as given in the Test Booklet / Answer
Sheet in the Attendance Sheet, (Patrak - 01)

Candidate’s NAmE ; .vervvervssresermsnssmasinnenses #0000
Exam. Seat No. (in figures) cewesssesmeseses
Name of Exam. Centre ! .ccoeeceenisassses peraanaitrs
Test Booklet SCUNO. 1 vvvvvrvriisnnnsesserismeees

"..pn-”"'ll {illll "l"!".]r‘.IS) L L L LT T Ty . NN R R
|l-'|'i"‘.:'at]‘1' C':"lrﬂ N‘:‘.: HassdRAEemEEmE S

ey L8 LT S T N

RN AR R AR N R N SRR

Candidate s Sign. ...ouveveevcscssenssassosss

oo BloCKSUPETViSOr Sign. . YT

PSO (15) For More Papers Visit www.VisionPapers.in !!!



http://www.VisionPapers.in

1 A cb—
2) Icot‘lxdr= jc"i »
ol S
5 ol e Rgg
g 1
(A) 0 (B) 1’2_ va,ﬁ y é‘
]
C) = (D) 2n

For More Papers Visit www.VisionPapers.in !!!

3) J‘tan(-i--—x)-(2+2sin2x)dx =

—

WU o i

(A) sin2x B | ~gl3s
(C) 2sin2x (D)
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|
ﬁ —
9 £Z3x+2)+33x+2 -
2 J§+1

-t
(A) 73 - 2 +1

2. |5+
(rB)/?’;lOg \5:[

2
(C) 2log |J§ +1| D) 7 log 5+ |
5) If _[C?SBxdx = p cos2x + g log |sinx‘ +C . thenp + ¢ =
SN X
?
(A) 0 B) 3
2
C) 2 D) 3
6) 161(2021 + tanx + tan2 I)dx: + C.
(A) (2021 +tanx)e’ (B) (2020 + tan x)e"
(C) (2020 + tanx) (D) (2000 + tan v)e*
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7)

3)

9)

2 /1 . _
. .« — then equation of ellipse
If area bounded by the ellipse * _ + Y =115 en eq D

2
= S

(B) 4x” + 9y2 = ]

2
(€) f__+y2=1 (D) x° + 72 3DY

Area of the region bounded by the curve v =4x, Y-axis and the line y = 3

1S

(A) 2 (B)

L"'r
? ‘ M _ \5‘« PN
©) % 2 -

= _‘}1—"

Area of the region bounded by the curve 2 — x and the lines x = 1, x = 4 and

X-axis in the first quadrant 1S

l -
|
%—{ . (B) 1 W%
3 3

28

) 3 D) 14
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10) The general solution of the differential equation % =e* 7 is

(A) e.l‘ +€y =C (B) e-x +ey =C

x r
dn = f—- J‘Y'
©C) e*4e?=C %—e’EC i

n & 2

g e

11) The number of arbitrary constants in the particular solution of a differential equation
of order 4 are :

96/4 '~ (B) 2

€) 3 (D) 0
d’y
12) Order and degree of the differential equation e %" = x are respectively.
;ﬁ 2 andnot defined (B) land2
(C) 2and1 | (D) 1andnot defined

13) If ¢ is the unit vector in the direction of sum of the vectors @ = 2i + 2} — 5k and
b =2i + j + 3k, then |¢| =
L. 85 JULG j s 1
& %' Tn e (B)
C) 0 (D) | =1
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o s TR

_ B = - 2
14) Let the vector @ and b be g}, that |3‘ =3 and |b| o then G x b is unit

vector, if the angle between ; and b 1S

T T
A) = B) 3
T T
p ©) 3

15) The area of parallelogram whose adjacent sides are determined by the vectors

§=f—}+3£ andE=25_7}+;EiS N S
2 =7 \
A) 1542 (B) 15
(—1+2) = (V- &
i 15 (30 ¢ — £
© 5 | - =

16) The distance of a point (2, 5,-3) fromthe plane 6x -3y + 2z -4 =0 is

13 -
W 7 ) 3
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17) The coordinates of the foot of the perpendicular drawn from the origin to the plane
2x—-3y+4z-12=0 1S

[12 18 24)
(A) (29> 29729

+ 2 =0 are two perpendicular planes,

_ 76 PV andx——2y+kz

then £ = _.
(A) 4 (B) 8
() —4% (D) —°
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oo F2XtaYs subject 1O constraints 2

and y?_O. 9
b ||l
(A) 12 b |
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20) If P(A):—I-—I-.P(B)=.l_land P(AuB)=r:th3“ p(%) %
/ 2 U0
D'-i /_4_’_ Z (ﬂ-/\b -
= 4 i ® 3 f /(‘: /iﬁ
B 2 PLm).
(C) 1_1 (D) T
: @l 3
21) For two mutually exclusive events A and B if P(A) =5 P(Au B) e and
P(B') = p, thenp = vy
@ - : o g
5 10 >
S @ T R
2 1 .
© 3 D) 75 /3
®)
!
(™"

22) IfAand B are two events such that P(A) # 0 and p(%) =1 then

(A) BcA B) B=Y
(C) A=0 % AR

23) LetR be the relation in the set {x: x€ N, x < 4} given by R = {(1, 1), (2, 2), (3,3)}

then, R 1s :
’ : . . For More P Visi \Visi in
(A) reflexive and symmetric but not tramsitiuc apers Visit www.VisionPapers.in
(B) symmetric and transitive but nWeXive
@5- . ﬁ reflexive and transitive but not w Mmetric
6-_;‘ D)

an equivalence relation

(Space f or Ro YA7 1
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24) Function f:R—>R defined as f(x)=x3,fis

(A) one-oneandonto (B) one-one but not onto
(C) many-oneand onto (D) neither one-one nor onto
1+x

A f (;:J;] B) f(xy)
xX+y 1
©) f(l+xy} () [l+xy]
26) cosz(sin'lx)+sin2(cos"lx)= 0<x<1.
(A) 2\/1_12 (B) 2(:::2—1)
©) 0 o 2(1-¥)
22) i

'Emd ce fo Rough Work) '
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27) Solution set of tan~ 2x+tan'3x = % s -
it
¢ g ’F'i
, Lo & v
(A) 1‘6"-1} @ O e
) S . ba
(&1 g
© & Y6 LA

iy |26 5 -3
AB = d11B7' = thenA=_
28) If 119 an "N
a2 4 9. 4
@ |3 -2 ®) |3 2.
T2 =4 =0 4
5 13- NS 3 2]
4 0 0 1 0 0
29) IfA=|0 3 0|and B= 0 20 ,then(A+B)‘1=
0 0 24 oo A
1 1
i B) -=1I
/@” 25 > ) 5 3
1 1
=1 B | et
© 33 (D) £ I,

R
S o
o < ==
O A
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30) IfA= 6 7 and B = 1 1]! then which one of the following is incorrect.

(A) (AB) =A'B' (B) A-adj A =|A|l

(C) (A+B) =B'+A’ (D) (AB)" =B"-A"
31) A(l,3),B(0,0)and C(k,0)are vertices of A ABC. If area of A ABC is 3 units, then

k iS - . ‘ .'-5 [ - 3

(A) 2 (B) 0 & & |\

ALY -2 (D) + 2. w © '
=z S
in(A+B A+B —5%
g o 2 A+ B ) 50, then A= . e
cos(A-B) sin(A- B)

A) — o X

@ - L ® 5

C) — w ¥
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33) For|1-—0 7|, the sum ofﬁinor and cofactor of 7 =
5 4
(A) O MY 2
) -2 (D) -1
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34) %(cosec"l e"’) .

(A) J er-:__l_ (B) Jezx :_;
. =1{ x —Ex___
(C) Sin (6’ ) (D) Jezx:

1
39) If f(x)=4x3+3x2+3x+4;x;t(),then i(x3.f[_])=

dx X
2 12+6'3
(A) 24x° +15x* +12x° +12x B) 27"
(C) v | X (D) 12x* +6x+3
2. & 3
d -1 — {4 log = +log(-!3—] - x> 1
36) _d_x-_og N 2 x> )
; (B) 6
e x
A
: D) -6x
€) %
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2
37) If x+1=¢"7,then %"—""“ :

© [%]2 ) -Z

38) The slope of normal to the curve y = 2x% +3sinx atx=0is
(A) 3 | (B) -3

s 1
r—— '.'t-. e —
&3 j P

39) The point on the curve 2 =2, which is nearest to the point (0, 5) is

@A) (22,4)
© (2v2,0)

40) Theinterval in which y= x%. -
(A) (_w: CID)

€) (-2,0)
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